
MTH 132 Quiz 5

Name: PID:

1. (5 points) a) Find dy
dx

from y2 + 13x = x2y + 13 using implicit differentiation.
b) Find the equation of the tangent line at the point (4, 3).

2. (4 points) Water is leaking out of an inverted conical tank at a rate of 10m3/min. The tank has height
6m and the diameter at the top is 3m. Find how fast the water level is dropping when the height of the
water is 2m.




































































































































